\é/ t /)"25? /12,35;7‘./9 f2 76 ?‘)"5-3

=A=-l mean = (28, #

| S = /76 4.4
{:’\0839 \2% 4~ 196~ !zi.lﬁki-_m CL‘I:S)

] . >l \K'
(%"7'7')71?'4' 20’?63-‘\ / l2e +—=(A,& )

—P?:?«{r;—'%{%é\ /y \\\/- lzﬁﬁ?@

Lsﬁw/ B ;’f/ 196|136 ]1946] 19.6 | 194 14,}\4[— (\?’7"2)

-3 -2 --l

| . |

ii N ) /My uae

| \W / il
24, 9~\ e ‘

@ QB/ = R92 4 |676

O Y997 = 196 4 PR
T | 67 *Qr?’q.';,g

_zu, N OwesmAar DIsSC '_,,"" H206)

I \ z g g // : o
| M&N_ﬁ:%w_:bg s

]! X< %2 ™
I 6235 )
A8 ¥,0255+H 6015 _ 4o +.0012 ¢

; ! =535 5

| = 975



L e
NoeM e . _
DL‘STVLLMW / \\\\ AREA = (
| AL AN
0 /. 135
.00%‘?_1 /23: % ,_-'00{5
-3 =R - 0o |2
Y N W Y \ |
P \,
. L
e =
\ L i
| ¢ 6% = (%
A5-,08) — (B3
| (‘__ ¢ ’{k [ -
- (\491~15)- — 0235
N




=
| ?2’@'(&4 pr "Zl//‘ﬁﬁ-
1 /’f//:\
i~y ? LN
7
——

4. o= >-|-< @
68+ 138+, o:r; 013 ‘

/\——;«-—
(&

p—————

\
f? w_}ng

/

A5+, 62354 4015 =<

| (@= a/pr\ . l il
pr ¥ 12755 = / \ [\ ool
| ,40i5 R (B ) N

3 @ = — g Ve e

b ! —
7o b 52223 40

1= .062%25F,001% Vi

| | = 025 4‘@
O

_——7
©—




19 avt Test (B2 e
MEAN = Y50 r/\}<‘ 1,
SV =gy 7 {6
PP e, Ja —Fo0
&80 Lme v/, . 12z 3
/S 720 TS —
e,

( @ Foo N2

&) &#7 ¢50 p

z Ero  N?

60 (?Eg )




| (¢.236 3,4.5)

p—— — e e
|
| 4 1
% 275
| ) -’*;-1-/3 L 2 31-le Ll ¥
1 Tr M -
_{;_: —— Em—
| .l ;e L —
_J‘E" “Prazzza)T =V (z<a)-
.l XV Z /— /
| ' v
( o —4"0\ & \
| i N
\ ‘—%—f l‘—”?"i‘,_g':L” y
\ 7 T {wu_\y
oz 2(M)- [ FEPaw
L8 o e o \
[WU — %) —~ “"’l




